SNU 4541.664A Program Analysis: Exam 1

19:00 - 22:00, May 4, 2009

Problem 1 (10%3) ¥1ZHE o2}

We define the semantics [C] of program C be the set of all states

(memory and control state) reachable from the set I of initial states.

Let 7¢ be the function that maps from a state to a state after one-

step transition. The natural extension T¢(X) of 7¢ for a set X of

states is
Te(X)={s"| 7c(s) =5",s € X}.
Then
[C] = fizFe
where
Fe(X) =V

& FHEo AASE AR B ol A BHUE AFF

X —— =Y

olth. o] ¥ Y= ¢ a4 (least fixed point)©] T}

W,

Problem 3 (154) 919 Q% Y7} 6o A2144 9L thg 7} 2o] S@aAT).
W72 e



o ¢(Y) CYUZF? 28tk YolA 95 B3 HEIAE 4t VE R
g itk dojdohd, | | olm & mgolr).

e Y C o(V)A7k 2™k ¢(Y)7h YRS e Ageleta stah 919
oY) YR FE o GBS 122, 9(6(1) C oY)tk 5 6(¥)7)

ool QA B8 gemz 9o «Xx"F 3o sirt Ak & |

olmZ wgolth

o UpR|EtO 2 Y7} 9o TAA FoA 7 Zerp?r g™k tE Y/t
92l g delekal hd, é, ¢(Y') = Y'old, | o] m &
Y& Y'Eoh zoh

Problem 4 (53) & CPO A 9} A7} Zr2o} 47
A=A
w0} glok A9] A9
Problem 5 (103) QA%X o] 11 28 ‘;_—ZJA/O]‘H,
o 2B X x V& g3} 2o
a=AS{a{a](a,—) € S}, az{b | (= b) € 5})
Qo7l5Elty. Z 2ol B ~E ALY, ZEo dZAYL Holzh
o 24P E X x V& g3} 2o
a=AX(a1{ala € X,a € A}, as{blb € X,b € B})
2o7bs etk 2Rl & 18 49 5a, A2t ARYL Holeh
Problem 6 (153) W17+ w4}
T CPO A 8 A7) Z2o} A2
A=A

o] a1, A9} ARE 77 o] B Al ©3 §1.0 ¥ (L-semi-lattice)
a(zUay) = alz) Uz a(y)°lH
3 o fe obele} 2t



Ualy) C a(zUy)olth shuFatd | 101 7]

uehA, 220t 9248, alzUy) C alz)Ualy)olth

Problem 7 (20%) Fixpoint Transfer Theorem®] 3t ¥ Aojt}. Fw o] WIS
| I 2t

D%} D 77} CPOel 1 2z ol Ado] Hofgick. @4 F: D —
DE A4l F: D — D B2g4olth aoFC Foa o
oo,

a(lfpF) C || F'(D).

i€N
Proof. aoF C FoaZ H¥
VneEN:aoF"C F'oq
oty sfuabe,

aoF" = qoFoF™

I

aoFoyoaoF"
G )
aoFoyoF"oa
GE )
FoF"oa.

(o]%; l D

M1

1M

e} A

VneN:(aoF") LT (F"oa)lL

VneN:a(F"1)C F"1.

& o] {a(F L)} eH{Fi 1} Ao 2z (o] F: | ) Uae(Fi L)}
L (FPL)e] &8l

|_| a(F'L)C |_|(F%i)

€N 1€N



AN

Problem 8 (15%) TH&-9 W&l 9 ddolg A7a4).

| while BC

— n (nez)x

| E+FE | B (boolean expr)
B —- z<E|-B

&

rlo
of
e
=2

ZZ233 BE Xo] BE ou](collecting semantics) X+= ol e} 7

A geldn

C ¢ 2Memo’ry — 2Memory

E c 2Memo7"y _ QZ

B ¢ 2Memo’r‘y _ 2Memory
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LvX = X
Xyl = X
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